WS 6.5 Name: p.

1. Conversions! (You must show all unit factors to receive credit!!!)

a. Convert 0.7 seconds to milliseconds (ms)

(0 5)( 1200ms ) =[ 700 ms|

b. Convert 50000 cm to km

(50000 em) osm) = ! 0.5 Km

c. Convert a speed of 0. 020 meters per minute into inches per second.

0.020m )(too G'VJ) ! "“) Lo. 013 i1n/s|
mmn 254 (m 605 J

d. Convert a rate of 450 micrograms per minute to milligrams per hour.

tspug) (2L )(£52%) = [2% mg /he)

e. Convert 4.6 x 10° nanograms into kilograms. .
(L’b"’og ng )15 iFan,) = [16x 107 Ky (.00000046 19

f. Convert 77 kilograms 1nt0 centigrams.

(779 ( 15") = 7,200000cs f/”’"oé i

g. Convert the area of 0.110 ft? into square inches.
2 8"{ ’—5 lg g Iﬂ
(o10A*)(H2)* = 15 L

h. Convert a volume of 3300 cubic centimeters into cubic feet.

Lin__ \AE\3 = ,_A, 3]
(3300 ma) mw) (lm O.1)b5 012 £+ J

...........

i. Convert 4.0 minutes to milliseconds.

s 51
(o min) ( 822 (100012 ) = 240000 » |
>( lmn>( (2"“‘)0;”’5)

j- A patient is prescribed 180. mg/ day of a drug. Convert this into grams per week.

[80.m¢ ?dai,' e s
<a!a] ) /DDOMj) /Weez) "L_/.Zé 7_/{/062)4 J

k. Convert the volume of 2000 cm® into cubic meters.

(2o cnt)[ ) = (022 n7




2a. How many molecules are in 0.156 moles of carbon dioxide?

2 x| %3 msle by

(0.1% mofﬂa)[ é.olmol{

=939 x 107 MoleaJeﬁL

b. If you have 2.49 x 10** molecules of sugar, how many moles do you have? m O\CS a‘\Q S
“@ m 3 wbodjﬁ

(249 x| 0™ molecdn) [ L mole
6.02x| p*3mole

1) =

J_"f 14 mol&:J

3. Perform the following operations, and then report the answer to the correct number of significant figures.
Use scientific notation only when necessary for expressing the correct number of significant figures.

126.2 +4.41
146.72 *7.96
364.8/4.56
36480/ 4.56
230.2-7.2
50.9 + 80.7
14.181-3.12
14.181 +3.12
14.18/13.21
14.18 *13.21
3.42-2.62
12621/ 42.07
62100/ 1.5525

Calculator Answer: Correct sig. fig. answer:

[30.6 | 130, b
1147.8912 [1F0
g0 €0.0
2000 < QQxl[)3
22% 223.0
[3).b [12). b
]1.06 I .06
[9.30] 12,30
1.037343 l.0%3

(8 7.3178 19%.3
0.8 0R0
300 300.0

_Hpoooo  _4.00X|0D *

4. Round or rewrite the given number so that it has 3 sig. figs., and so it has 2 sig. figs.
Use scientific notation only when necessary for expressing the correct number of significant figures.

Number
80000
0.0031833
729.12812
71000
30401
3333.33
6.1819

60
0.01898
90072

with 3 s.f.

g.00x10"
00318 _.0032

with 2 s.f.

3.0XI0"




